EECS 210 SOLUTIONS TO EXAM #2 Winter 2001
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Vreagey =8V. Rrppy = 9. Inyorron = gA. Ryorron = 98. 97 70
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1b. Node eqn. for Voo: et = 22 — Voo =V, = 8V. 93 62
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Isc = Shraha = 0.8mA since V, = 0. Rgg = 551 = 10kQ. 38 gé
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lc. Replace each Norton eq. with its Thevenin eq. and add in series: 89 g 0
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Voo = [(34)(3Q2)] — [(24)(4Q)] = =TV.  Rrp _—_7— 4+34+5=120. g2 sg
Vrupvy = =1V. Rrppyv = 120 Inopr = —75A. Ryogrr = 120 86 27
WRoNG SIN= (=D (I PUT THEVEMN FIGVRE ONECARD). | + 5 =9 wstep oF 1=3=-7: E-2) 85 g’g
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2a. Noninverting amp— ¥2UL = 1+ ££ from handout or text. 85 22
A FEW THoU GHT THIZ WA T |k cive AmPLirics (vbH ). gg 27
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2b. I_|_ =0— V_|_ = Vour 80110 — QVOUT- oo 44
Vin=V_ _ V_-Vour — 8 1 Vour _ 8 79 43
ok sokQ Vo= QVI{V_JF g Vour — Vin T T g7 41
HARPEST PROBLEM . SUME [NMEEMipvs OTHER W/v > g5 37
_ _ _ Vour _ _ 10kQ __ - . 75 35
2c. Vp=V_ =V, =0 — QYL = — 2% = 10 (inverting amp). > 33

oV HAD To MTE SPECIFIcALLY AiD ‘g%,nc n’c‘v'-rlltl}grz\//;:ﬁ’ o €3 = Vsur 15 M7 A hope vacvice 72
: MEPIAN.
3a. t = 07: inductor—short— Vi, = 0; capacitor—open— I = 0. EJ

v _ 400 _
It = To014000 = 20mA. Ve = (10V) 100+105 = OV~

3a. t =0%: I, = 20mA. Ve =8V (these can’t jump at t = 0).
Ic = —20mA. Vi = Ve —4001;, = 8 —400(20mA) = 0 (coincidence).
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2 NCTHILE POINT = 11y g
3b. Max. power transfer— R = 100€2 %Power:%/o)ﬁ) = iWatt. o THIZ POINT= 1t e Fi




